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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1.  Tenef TageH 91 93 99 W Ak sifqerdd: faw |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. W T F fe<l 9 SiUsh TURR H fRE ybR *1 qfe / AR/ faiuae g1 W
o=t W % WA il wEl uH |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. Ol T F At € | TR i 23 9 24 F SfiaRe famed § |
All the questions are compulsory. There are internal choices in
Question Nos. 23 and 24.

4. YIF I K S & TS IWR-Yew | & ferd |
Write the answer to each question in the given answer-book only.

5. 59 7% & T& ¥ 31fuss 9ue siharel 9 €, 39 9t W 1 g Th 919 9aq
fere |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. U 9@ 2dH 5 dF Ifd TAYAUHS Y T R IW TS 1 IR I

15 U5l dh S & | U1 §&I 6 ¥ 13 Tk o Yodsh S 30 Y| d% T YA

T 149 21 9% & TIF S 100 Tl dh 4 & | TS Y9 & 37k 3Th
e RCORIDE S

Question Nos. 2 to 5 are very short answer type. Their answers
are to be given in 1 to 15 words each. Answers to Question Nos. 6 to
13 are to be given within 30 words each and answers to Question
Nos. 14 to 21 are to be given within 100 words each. Marks of each

question are given against it.

(1, d, G0E ) ¢ | TeT faeheq 1 SOuer S-qieaet | FeAar drferen

AT fed

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

U9 ShHich HE 3T T HHTRT
Question No. Correct letter of

the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)
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1. () 9Rd % IR a g @

(s1) = (4) <& |

(®) wE (3 |

Non-conventional export of India is

(A) Tea (B) Handicrafts

(C) Spices (D) Cashewnuts. %
(i) WA H ISl AN 1 TS fohan T

(1) 154, 1952 (§4) 153, 1950

(9) 063, 1952 I (2 154, 1950 I |

Planning Commission was set up in India on

(A) March 15, 1952 (B) August 15, 1950

(C)  August 06, 1952 (D) March 15, 1950. %
(ili) FAYLH F=LIS YUMEH i oA Feithd fohd <91 & g8 7

(31) AR (@) =

() ITelve (3) 9Fa |

Internet system was first started in which of the following

countries ?

(A)  America (B) China

(C) England (D) India. %
(iv) 7 # IR T i wia @

(31) I () @i ad

(9) amE-T" (3) faga |

Non-conventional source of energy among the following is

(A)  coal (B) mineral oil

(C) bio-gas (D) electricity. %
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2. S HEA U § N AR § ?

What is meant by population density ? 1

3. fmaf@ (2002 % sMuR R ) &t g 4, vRa &1 fava stefegazen § wH-91 T9H
g2

Which is the position of India, with reference to export ( on the base

of 2002 ) in the world economy ? 1
4. foouh faftaa gerem etfufem ( ThogoTHoTo ) 1999 o1 & SET FM € ?

What is the main objective of Foreign Exchange Management Act,

1999 (FEMA ) ? 1

5. NG H % Aferd Freisiiien faa¥or Joel! el § SN i T 2

When was the new target public distribution system started in

India ? 1

6. R H SNid SUfGYSH Te ATGUST & his 9 R0 fafgw |

Write any three causes of land subdivisions and scattering of holdings

1 1 1 1
in India. §+§ +§:1§

7. 9 & fow™ ¥ SAERRa U A SR A ganedl i w@aerst s E 7
¢ 1 gara i |

Give any three suggestions for ensuring people's participation in

development of the country and for making the village youths self
. 1 1 1 1
reliant. 5 +5 +5 = 1§

8. Y TH FER TN H g diF 3T TE HIfST |

Explain any three differences between small and cottage industries.

.1 1 _ ;1
g tg t3 =13
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10.

11.

12.

13.

14.

15.

16.

5

(aWa

URA R i @ ifq & foel 99 dcl &1 Seoid Hifse |

1

Mention any three features of India's Food Policy. % +5 +5 =1

N =~
N| —

TSt % STER, Tee ST9H ¥ U i B 9t g | ey fafag |

According to Gandhiji, write any three benefits to villagers from
1 1 1 1

adopting Swadeshi. 5+t +5 =13

3k ITER, WRd | i faa i ff=l 9 yq@ S &1 w9y Fifee |

According to you, explain any three important deficiencies of industrial

. . . 1 1 1 1
finance in India. 5 t5 t5 =135
fodta daadta Fer & forl a1 329l o1 fafau |

1 1 1
Write any three objectives of Second Five-Year Plan. 5ty +5 =13
sHrT=TRes e & forgl @ FihHl &1 Seorg ST |

1 1 1
Mention any three informal educational programmes. 5 +t5 t53 =13
7 fo@™ gq ®IE o gea Sy |
Give any three suggestions to develop forests. 1+41+1=3

ARG srefegereen & fashraeiicl T@ey sl <y arefl fhgl d fovansti =1 v
HIfSTT |
Explain any three features of Indian economy showing India as a

developing economy. 1+1+1=3

frdt off So 1 AdHeRen & fau, e FEem & " &1 fhgl dF uaml
T TY HIST |

Explain importance of economic planning for the economy of any

country on any three grounds. 1+1+1=3
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17.

18.

19.

20.

21.

22.

6
ORI Stefeqawen i faoe faw & fa<l ©: dufad el 1 Seor@ Hifs |

Mention any six probable benefits to Indian economy from foreign

investment. 6 x % =3

9Rd & Tl ©: Y@ Mm@l & fafEy |

1l
w

Write any six important imports of India. 6 x

N —

Y A FHHTE G SMUR R FH=E aRASsT 1 afieror HifSw |

Give classification of irrigation projects on the basis of cultivable

command area. 1+1+1=3

Rd & TP SEe Hifd (15 ®E’, 2000 ) &t gl ©: 9q@ o1dl &1
I HIT |

Mention any six main features of National Population Policy ( February

15, 2000 ) of India. 6 x% =3

MUk STIER, IRd § FfY fox &t ®Ig @9 Sl 91 v FaRy |

According to you, state any three shortcomings or defects of

agricultural finance in India. 1+1+1=3

Rd H TR 1 SRS i §HE & I 7q ddad gl ©: Skl &1
Hferd gl sifs |

Explain briefly any six programmes implemented for removal of

poverty and unemployment problem in India. 6x1=6
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23.

24.

7
IRa § sfefites fasma &t ffel ©: @ aaesti &1 auH Sife |

YT
qRd | HiH=e 3T i fh<l ©: 7@ quesii &1 9uiF S |
Describe any six major problems of industrial development in India.

6x1=6

OR
Describe any six major problems of cement industry in India.

6x1=6

A | A= HfY IcIehar & HIE A SR THAET | FfY Icdghal H Ifg &
for=gl 1 3Iural 1 garra < |

SrerEr
qRd ¥ g sifa o forgl o 9@ I il 9Hesy | YRd ¥ 386 fhgl b
TSl 1 FUH hITST |

Explain any three reasons for low agricultural productivity in India.
Suggest any three methods to increase agricultural productivity.
(3x1)+(3x1)=6

OR

Explain any three main features of Green Revolution in India.

Describe any three effects of it in India. (3x1)+(3x1)=6
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